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Câu 11: Tìm các giới hạn sau: 
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d). Hoàn toàn tương tự câu a). 

Câu 12: Tìm các giới hạn sau: 
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Câu 13*: Tìm các giới hạn sau: 

a)
2

2

4n 1 2n
lim

n 4n 1 n

 

  
                                 b)

2

3 3

4n 1 2n
lim

n 4n 1 n

 

  
  

c)
 3 3

2

n 4 n n
lim

4n 1 2n

 

 
                                  d)

32 6

4 2

n 1 n
lim

n 1 n

 

 
  

LỜI GIẢI 

a)
2

2

4n 1 2n
lim

n 4n 1 n

 

  
  

Ta có:
2 2

2

2 2

4n 1 4n 1
4n 1 2n

4n 1 2n 4n 1 2n

 
   

   
  

Ta có:
2 2

2 22

1 n 4n 1 n n 4n 1 n

4n 1n 4n 1 nn 4n 1 n

     
 

    
  

Vậy 

    

2

22

2
2

2

4 1
n 1 n

n nn 4n 1 n
lim lim

14n 1 2n 2n 1
n 4 2n 2n 1

n

 
       

            

  

2
2

2 2

4 1 4 1n 1 1 1 1n n n nlim lim
1 1 1 1

n 4 2 n 2 n 4 2 2
n nn n

 
      

   
      

                    

  

 
2 1

lim lim 0.
4nn 2 2 2

  


  



Truy cập hoc360.net để tải tài liệu học tập, bài giảng miễn phí 

Truy cập hoc360.net để tải tài liệu học tập, bài giảng miễn phí 

b).
2

3 3

4n 1 2n
lim

n 4n 1 n

 

  
 

   
  

2
3 32 2 3 3 2

2 3 3

4n 1 4n n 4n 1 n n 4n 1 n

lim
4n 1 2n n 4n 1 n

 
        

 
    

  

 

2

3 3 2
3

2 3 2 3

2

2

4 1 4 1
n 1 n n 1 n

n n n n
lim

1
n 4 2n 4n 1

n

                  
         

  

2

2 3
2 3 2 3

2

4 1 4 1
n 1 1 1

n n n n
lim

1 1
n 4 2 n 4

nn

  
           

   
         

  

2

3
2 3 2 3

2

4 1 4 1
1 1 1

n n n n
lim

1 1
4 2 4

nn

 
       

 
  

       

 
 
1 1 1 3

lim .
162 2 4

 
 


  

c).
 3 3

2

n 4 n n
lim

4n 1 2n

 

 

 
 

3 3 2

2 2 2
3 33 3 2

n 4 n n 4n 1 2n
lim .

4n 1 4n
4 n n 4 n n

   


    
  

2

2

2

3 3 2
3 3

3 3

1
4n n 1 2n

n
lim

4 4
n 1 n n 1 n

n n

  
   

   
                

2

2

2

2 3 3
3 3

1
4n 4 2

n
lim

4 4
n 1 1 1

n n

 
   

 
  
         

  

 2

2

3 3
3 3

1
4 4 2

n 4 2 2 16
lim .

1 1 1 34 4
1 1 1

n n

 
       

  
     

 

  

d).
32 6

4 2

n 1 n
lim

n 1 n

 

 

6 6 4 2

4 434 2 6

n 1 n n 1 n
lim .

n 1 nn n . 1 n

   


  
  

 
4 2

2
3 34 2 6 6

n 1 n
lim

n n 1 n 1 n

 


   
 

 

4 2

4

2
3 34 2 6 6

1
n 1 n

n
lim

n n 1 n 1 n

 
  

 
   

  

2

4

2

4 3 3
6 6

1
n 1 1

n
lim

1 1
n 1 1 1

n n

 
   

 
  
         

 
2

2
lim 0.

3n
   


